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Riggere Code Level 1

Q 1) Which among the following material is used to make the safety belt for a rigger?/Jdh IR A TH gRé&m CRd
T & fore S9H 9 fordt Irsht 1 W fosam rer &2

1) Steel AT

2) Leather/dHSI
3) Nylon/Ad@iA
4) Jute/S[C

Q 2) Which among the following instruction is given by the following hand sign to the crane operator?/Jch El

HfoRex & fore Fofifed g1y 9o @ &F a1 e far Jrdr &2

1) Raise the hoist/8TEC I ISMT

2) Lower the hoist/gTIX P =T BT
3) Stop the hoist/8TTX & AT

4) Rotate the hoist/GIIX Al YHET

Q 3) Which among the following is the most commonly used method to lift heavy Weights?/ﬁ'ﬁmﬁ T HH-
YR GO IS & T8 Fad 31 SXAHTS fobaT ST aTelT akiapl &2

1) Hoist Crane/gTU¥c B
2) Gantry Crane/ﬁ'_gp[ Eal
3)Jib Crane/fTq o+
4y All of these/T Tt

Q 4) Which among the following is used to increase or decrease the tension in wire cabling?/ﬁ“ﬂﬁ‘l@ﬂ o9 g
AR HafelT & d1d & IgMH T U™ & forg T faan Sirar g2

1) Wrench/Rd
2) Winch/fda
3) Worm/ard
4) Jig/fT

Q 5) Which among the following is a grooved circular disc over which ropes and cables move?/FRIRIIH T

P Tt T U WRIGR MR &b § e SR IRt 3R Had Iad 82

1) Drum/gH
2) Shell/RId

3) Pulley/gai!

4) Cylinder

Q 6) Which among the crane signal is given by the following image?m@ﬁ BAERIZH Y DI T o6
T foan ST 32

1) Lower the hoist/gTU¥C P =T BT
2) Lower the boom/gH B H HIT
3) Stop the operatlonmlg BT
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4) Lower the crane/oh= @I e HAT

Q 7) Which among the following does not use any fluid medium for power transmission?/AgfeRad ¥ P
fagga Tarur & fore fpeft oft 5o Arem &1 ST 6t wxar g2

1) Hydraulic/8T8 It

2) Pneumatic
3) Cable wire/ad dTaR
4) None of these/3TH q 13 ot &

Q 8) Which among the following hand sign is shown by the following image?/ﬁ’ﬁ Ay e HEECARES

B gR1 femmn mar g2

1) Lower the crane/sh P =T HRAT

2) Retract the telescopic boom/_gR_Gﬁ:f qgH P IO T
3) Move crane backwards/d1 1 UT P SR o ST
4) Lift the hoist/8TIRE B IS

Q 9)%Which among the following is not a component of any crane?/AARIT & Q& ff e 1 Uh YUch
82

1) Telescopic boom/GRaH §H
2) Cylindrical mast/SAHIHR ARS

3) Tubular Jib/&[&d foTd
4) Concentric Arc@ﬁ@@ 3T

Q 10) Which among the following hand sign is represented by the image given below?/FafaRad Gl dha o
I 1 Hebd i <1 TS Bid GRI WA T 82

(2

1) Raise hoist/8TTXC Sl BRI
2) Retract the telescopic boomw gH 9y Ll
3) Move crane forwards/oh=T 31T T ST

4) None of these/STH I ﬁ's‘ i T8t

Q 11) Which among the following parameter is considered in the design of electric drive for a particular

application?/FHTIRIT TRTHER & § ST U A= I3 & fow 3aifaes g1ga ot fSoirg= & U1 S

?

1) Speed requiredﬂ'lﬁf HIRI D
2) Starting torque/¥c e

3) End application/3{d 313;@11
4 All of these/d T+t

Q 12) Which among the following situation allows a person other than crane operator to operate the crane?/sh

3{TORER P 3(TTaT Ueh SAfa bl b1 TaTierd A B 38 § B T U 3rAfd Tem ol 82

1) During light load/dTSC @IS & SR
2) In the absence of crane operator/% 3R DI mﬁ |
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3) During routine maintenance operations/ﬁ'lﬁ SIREUT BT D QR
4) None of theseB_"Iﬁ I aﬂ‘s‘ thi} 7‘|€[

Q 13) Who among the following must be present in the crane during operation?/ﬁm T HH ATRIA P
SR o & HiS[g g1 a1fge?

1) Operator/\’rm

2) Supervisor/qﬁaw

3) Field Technician/T1e8 qH-TRA
4) All of these/d T+t

Q 14) Which among the following is used to guide the incoming air crafts about tower cranes?/CIaR o+ o AR A

3T TS TIRBTIR] ! MSS B P 18 370 T fohgepT UANT fobam SiTaT 82
1) Trolley basket@%‘ﬁ TRaC

2) Buffers/@HH
3) Warning lightsﬂl'ﬁ;r[ NIE
4) None of these/STH I aﬂ‘s‘ ot =75t

Q 15) Which among the following motor is found in automatic drives?/f9 & Q D1 I Hier T=nferd glgod o
BEKIGIE

1) Synchronous motor/RIII3RT Hlex

2) Induction motor/g SR e
3) DC Motor/SHl HIeX

4y All of these/T Tt

Q 16) Whi%ch among the following operations can be done by crane?/FHTIRIT STIRRMT & offd STt o1 9 fopam
SIRSC S| K

1) Lifting load/HR 3ST-T

2) Lowering load/HIR & H HIAT
3) Holding load/8ITcaT A8

4) All of these/d T+t

Q 17) Which among the following represents true scale?/FA A I B 4 T d Ui %?

11
2) 122
3) 2:1
4) All of these/d T+t

Q 18) Which among the following operation is performed by overhead cranes?/[A9 & § ST SR aEs
ERIFRIERISI GRS

1) Horizontal movement/&Tat i
2) Lifting and lowering/i%ﬂ%"[ 3R i

3) Tossing

4) None of these/3TH 4 P15 o 75T

Q 19) In which among the following quadrant the object is placed while preparing drawings in India?/HRd T o

TIR B T 394 3 o Ihivieh § a¥g 1 T 91Tl 82

1) First quadrant/Tgal IS I0T
2) Second quadrant/g3R
3) Third quadrant/?ﬂﬂ?‘f

4) Fourth Quadrantﬁﬁ?ﬂ %r@mﬁm

Q 20) Which among the following to represent the actual edges of an object?/ﬁm TUTH a¥d CaCIESIEED
foFIRY 1 S Ut el 2
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1) Continuous thick/Idd Arer
2) Continuous Thin/Iddd Uddl
3) Chain thin/I SIET Taal
4) Chain thick/a ST HeT

Q 21) Which among the following action must be done in the event the metal portion of crane comes into direct

contact with live w1re”%$%ﬂ§$ma3ﬁﬁ(7ﬂ$ﬁﬁ$@ﬁmﬁ &nﬁﬁ@rﬁﬁ‘sﬁﬁﬁwm
CARCIEIES T

1) Get down from the crane cabin/thT B F = IaR ST

2) Jump down with feet together/aﬁ Call th Uh Y GIE] chf

3) Remain in the cabin until the lines become de-energized@%ﬁ s ?% SEGEAED NIEE CANCRNI dgHd f-ﬁ
Il

4) None of theseﬂ:lﬁ I Tﬁé b} :ﬁf

Q 22) How many signal men should be there for crane operator guiding?/ﬁ”—d%f e TEIT b1 TR
AriaRie & U H §H =M

1
2)2
3)3
4)4

Q 23) Which among the following type of motion is shown by overbridge crane?/3ATaRISST o1 GRT 0 & foog
THR B M0 &S T8 &2

1) Longitudinal/3/ &

2) Transverse/3{JURf

3) Both 1 and 2/1 3R 2 G

4) None of these/STH I ?ﬁ% i 78t

Q 24) Which among the following is used for transporting objects having flat bottom?/FaIc SfeH aTei aﬂ\?ﬁ &

uRas & fow S99 § SIF wiT e o g2

1) Belt conveyor@E FAR

2) Roller conveyormﬂ? FAR

3) Chain conveyor@q AW

4) None of theseﬁ'z_"l'af q aﬂé thi 7‘|€T

Q 25) Which among the following situation necessitates the need for signal operator?/ﬁ'{;[ 7T A O Ry
Ryoret 3ffoReR & o sa=as gidl 82

1) When landing area cannot be seen/SId ST &= 71t < o e

2) When the path of travel cannot be seen/SId YTAT b nﬂﬁé’ré@ Sl Jbdl
3) When the load cannot be seen/STdl KSR ECIRSIRER %

4y All of these/T Tt

Q 26) In which among the following case special purpose material handling equipment is used?/fafaRad A

H Y fopad faRw vraio it €STeRT Sueh T T faha STl &2

1) Process layoutm SEIr

2) Assembly layout/m d3m3e
3) Both 1 and 2/1 3R 2 I

4) None of theseﬁ'ﬂ'ﬁf J Ebﬁ_g thi 7‘%}[

Q 27) In which among the following manner the signal man must provide signal to the crane operator?/ﬁ'ﬁmﬁ

TP T A fHgd grRI B TR B Ryrad gR1 Rivrd ver foar s =nfgw
1) Daily/efAd

2) Continuously/¢HTdR
3) Hourly/8c¢dR
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4) None of theseB_"Iﬁ I ?ﬁé b} 7‘|€T
(%) 28) Which among the following is not a crane used in industries?/9 & ¥ B 91 T o Sar | Ugad Tl
?

1) Boom
2) Barrel

3) Overhead/3NaRES
4) None of these/3TH F 13 oft 7Y

Q 29) Which among the following decides the minimum power input for starting the crane?/FEfIRET A B
1 Pl Y& R P o€ YA faggd 399e &1 fofa dar g2

1) Starting torque@ﬁ"’[ TH
2) RPM/3RUTTH

3) Load/@S

4) All of these/d TUT

Q 30) Which among the following type of braking system uses less power?/ﬁ'{; YHR H DI 91 3fchT Red &1
e BT ITIRT AT &7

1) Dynamic@'mm
2) Plugging i

3) Regenerative

4) All of these/d T+t

Q 31) Which among the following motor is used in chain hoist?/ AT Hiex A 1 I BIYC TR far
SIGIE

1) AC slip ring motor/THT T T Alex

2) DC shunt motor/Sl ]IC ACX

3) DC compound motor/S1II HHTIS HICX
4) All of these/d THT

Q 32) Which among the following motor is used to move the cranes linearly?fﬁ'ﬁﬁf@ﬁ Hiex & d1d oo Bl
G o S & forg waeT fasar s g2

1) AC slip ring motor/THT fXeTT &1 Alex
2) DC shunt motor/S T T AleR

3) Synchronous motor/ﬁiﬁa\’:m e
4) DC compound motor/S14 ]I AIER

Q 33) Which among the following induction motors has wound rotor case?@qﬁ T fryg EECRE Aed ¥ ards
e HY BT 82

1) High starting torque@'lé wIfé el

2) Low starting torqueﬁ‘ﬁ wIfET el

3) Limited speed control/AHd Tfd fi=rom
4) All of these/d T+t

Q 34) Which among the following controls the speed without disruptions?/ﬁ"ﬂ'[%‘l@?f T B Ryl P famm
T &1 Fifd vt 82

1) Synchronous motor/RIII3RT AR

2) Induction motor/{ SARI e
3) DC Motor/SI Ale}

4) None of these/STH I aﬂ% i 78t

Q 35) Which among the following motor can change is direction of rotation easily?/ﬁgmﬁ Hiex # ol 9d
Fhd § 95 ST I A P a0 82
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1) Synchronous motorﬁﬂ’ﬁﬁw HieR
2)DC Motor/SH! HIeX

3) Induction motor/3 SR e

4) All of these/T T+t

Q 36) Synchronous motor has which among the following advantages?ﬁﬁﬂw e Fgfag A & 9 D
1A 82

1) High power factor/3™ fad e

2) Less heat production/H THf I

3) Ease of reversal of direction/[aRT & IchHUI B JITHAT
4) Effective speed control/STHTT TIfel fF=roT

Q 37) Which among the following motor is used to hoist the boom?/FEfIREd AR F Ta BT gH Call BIYXC
A I foT T foa ST &2

1) AC slip ring motor/THT T fT AR
2) DC shunt motor/Sl ][E ARG

3) Synchronous motormﬂ\}m HleR
4) None of theseﬁ_"l'af q aﬂé thi 7‘|€T

Q 38) Which among the following is used for lifting and lowering the hoist?/FEfafREa § @ & B DY
fAfGeT SR SeiT 3 forg T o STt &2

1) Smooth movement/&a ﬂjﬂ?
2) Precision in control/ AU H G ?‘\{!@(‘II

3) Accurate speedw T
4y All of these/T T

Q 39) Which among the following term is used to represent the length of crane?/FHTIRId & 9 b BI E‘IEITE\E
1 AN o oL S Wea TANT fobam el 82

1) Span@:f

2) Tonne/C

3) Drive/gIRd

4) None of these@qﬁ J Ebﬁé thi 7‘%}[

Q 40) Which among the following motor drive is used in Gantry cranes?/A Ej ik 3_"|ﬁ ¥ fohg dier SIEEK
ST T STl &2

1) Slow speed motors/&iHT I Aed
2) Continuous duty motor/FRTR 3@[& Hiex

3) Induction motor/SSHRIT Are
4) None of theseET-Fef I aﬂé ot '_ﬁ)[

Q 41) Which among the following case low power cranes are used?/F9 # O forg ATHS B & YR & &1
ORI {1 STt 2

1) Automobile workshops/\?rﬁlaﬁw WIF‘ITQ
2) Movie studio/fthed K%’Cﬁ

3) Power plants/f[dggd 4=

4) All of these/d THt

Q 42) Mini drafter can be used for drawing: LGl %CET BT U CRiEk:d 1%1? fopar Sar %I

1) parallel line / JHHIIR 3T

2) inclined line / UG T

3) oblique line / 37&idh @I

4) both parallel line and inclined line / AR 34T 3R Qﬁi“@ﬂ il
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Q 43) For drawing 90° which set square can be used? / 90° T & ﬁm g ‘Iﬁ'q'[ &1 TN far ST %?

1) 45°
2) 30°
3) 60°
4y all of these / T8 T

Q 44) Normally the thickness of drawing board is around: / '§ =8 S B Hﬁ'c‘lé A gt %I

1) 10mm
2) 25mm
3) 50mm
4) 80mm

Q 45) A chisel is a tool which is not used for cutting:/ ﬁl\_ﬂﬁ Th W BUHRU] % forgesT TN CARCE: 1%1?
e forar SaT 21

1) plastic / TTRCH
2) wood / AHSI
3) stone / R

4) metal / HTJ

Q 46) Another name of top swage is: / 10 Il BT QIR AH gl

1) chisel / &1

2) hammer / ﬁﬂﬁST

3) screw driver / PG|

4) nose plier / BISASIESE]

Q47) Poﬂ%ole hand drill is used for drilling of holes in: / TTd &8 fSa HT TRANT T g B & fog
[ERIEIGIE

1) wood / AP

2) metal / HTq
3) brick / 3¢
4) wood, metal and brick/ ?ﬁ@o[, YTd 3R g_C'

Q 48) Hacksaw frame is not made of: /%TJFI}[’W Y T8 §7ar %I

1) wood / aﬁ
2) plastic / WiRed
3) brass / GIE]

4) aluminium / Q?\Tﬂﬁ'ﬂﬂ
Q 49) Standing rigging supports: / W R P TERT a?ﬁ%l

1) yards / s

2) masts | B

3) spirits / fafve
4) sails / 4

Q 50) Mooring lines are made of: /Hﬁ’TﬂTﬁT\q @Hﬁ?ﬁ%l

1) aluminium / Q?ﬂjﬂﬁw
2) silk / XRH
3) nylon / ATIAT

4) both aluminium and nylon / Q@Iﬁﬁ'ﬂq 3R g gt

Q 51) The loads carried by slings will be in one of primary sling hitches. / AT GRT SO/ T HR
T R &% ERRGRCIER: Ul

1) two / al
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2) three kS|
3) four /AR
4) five / U

Q 52) In chocker hitch, downgrade of choker work load limit is when the angle of choke is less than:/ PR T
T, PR P HA-HR &I JHT1 a9 Ucd! g oId Al BT DIl YA g|

1) 100°
2) 120°
3) 60°
4) 90°

Q 53) Which sling is best for lifting of hot/sharp edge objects? / T/ YR RR arelt aﬁ&h P I3 & forg
B 7 T 9d9y 82

1) Wire Rope /AR DI IR
2) Chain /T

3) Mesh / STTelt

4) Synthetic / RIfe®

Q 54) Lever hoist lifts object in:/ R Eﬁwaﬁﬁh?ﬁ H331d %I

1) vertical / digdd

2) horizontal / RIGE]

3) angular / P07

4) vertical, horizontal and angular/ TSdd, aﬁlﬁf R BT

Q 55) Rope, cable or chain winding/unwinding mechanisms will not involve: TR, e IR g1 I & que /
Tia- ot fosar & BRG]

1) winches / fa=a
2) tackles / T

3) capstans /

4) pulley / H?ﬂ
Q 56) Spreader beam is not used in: / TSR &Y BT T ﬁﬁmm%l

1) car service centre / ‘TI@ (ﬂﬁ? @ET) MY a’?
2) steel mills / T & HREH

3) paper mills / PTG & HREAH

4) power plants / [ESHIER

(%) 57) D-Shackles are used in load situations. / S1-RHd T YTNT R aRkfufeal 7 forar Srar
[

l)unidirectional/wgbf = H
2) bidirectional / glalRIdb

3) angular /
4) vertical / AR

Q 58) Turnbuckles in hoisting and rigging operations is fabricated from forged alloy of: / EWT 3R Rftf wraf
[ caadd, % oITe firet g ¥ SR S g |

1) steel / i

2) aluminium / Wﬁm
3) tin/ feA

4) zinc / i

Q 59) Rigger safety involves hoisting triangle which includes: / RTR qRE& 2| B@T IEEAL 31?[% Eﬁ?f %,
forers} mferer &:
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1) crane / Eal

2) crane operation / o gRaTed

3) rigging of load to crane /oh & YR IS
4) all of these / T8 THI

Q 60) Slings in basket hitch needs to have balanced loads to prevent:/ Sf&pe fRadfRand H’g’ﬁﬂ YR &I
SMaRAHT I e F U FR 3

1) burn / ST

2) breakage / gc- C

3) slippage /

4) burn and breakage/ SIcl- 3R cc-c

Q 61) Wheelbarrow is an example of :/ ?Eﬁ?la?}f, HhI 3algrU %I

1) Class Two Lever / Suft g1 & TR

2) Class Three Lever / ot 9 & efaR
3) Class Four Lever / it IR & AR
4) Class One Lever / goft Uh & TR

Q 62) Angles required to form oblique projection of a drawing are: / T §|3‘ P 3D YIolaRH o & g
TaRID HIUT gl

1) 30°
2) 45°
3) 60°
4) 90°

Q 63) MKS unit of electric field is: /W— éﬂﬁﬁ MKS ng %I

1) Vmm
2) V/im
3) V+m
4) v-m

Q 64) Find the decimal equivalent of 95%. / 95% @1 GRIFAd YA J1d Bl |

1)0.9
2)0.59
3)0.95
4)0.7

Q 65) Parallel lines cannot be drawn directly using: / TJHMIR Rar3ff B BT TN BIh Oy =g J T‘|_69[
T S b 2|

1) scale / d
2) compass / HUTH

3) set square / ‘Iﬁ’m
4) protractor / CAGINED

Q 66) Which ferrous metal has an ability to heal itself? / [ERASIRED YTd T W &1 31 B DI &l %?

1) Stainless Steel / AT T
2) Wrought iron / 3¢ 3RA

3) Cast Iron / PR AR

4) Carbon Steel / Fla Trd

Q 67) Which among the following shapes have only opposite side parallel? / fafafaa G‘I'@i%m)f o3 feg
3fTpTa B FHad fauia Yo THFiaR g2

1) Triangle / @101
2) Rectangle / 3T
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3) Trapezium / FHAS
4) Circle/dd

Q 68) A man covers “A” part of the complete distance by moving at a speed “S1”, B part of distance by moving
with speed S2 and distance C with speed “S3” then his average speed will be: / Tdh fad S1 71§ Tddx HTU;UT
T BT A HIT T FRATE, S271

1) 1/[A/S1+B/S2+C/S3]
2) 1/[A/S1+B/S2-C/S3]
3) 1/[A/S1-B/S2-C/S3]

4) 1/[A/S1 x B/S2 x C/S3]

Q 69) If a packet of toffee is mixed with 15 packets, then the correct proportion of 2 packet of toffees resulting in

30 packets of toffee as: / TG ST BT TH Ydbe 15 Udbel & AT FAremar oira &, Y it & 2 Yobel &1 Tal
U foresT Uiy it & 30 O

1) 15/1=30/2
2) 1/15=2/30
3) 1/2=15/30
4) 2/1=30/15

Q 70) Spring balance is used to measure of a body. / &1 939 &1 UaT q¥ i T
& fere fosan Srar 31

1) Mass / HI
2) Weight / 9
3) Density / U-cd

4) height/@ﬂlé

Q 71) In a box, 25% of 120 guava are rotten. Find the number of guava that are rotten? / U L ﬁ, 120 &I'J:Iw
T 25% TRIE 8| TR 3FRC] B TSAT 1 DITord?

1) 40
2) 60
3) 30
4)90

Q 72) Which among the following is a scalar quantity? / fFofafea o DIt 3 QR %‘?

1) Distance / 3R

2) Displacement / RITTAR0T
3) Acceleration / x0T

4) Velocity / T

Q 73) Which statement is correct? / DI T HYT el %?

1) Perimeter of parallelogram = 4 x (sum of adjacent sides) / FHIIAR %@jﬁ[ BT URATT = 4 x SR H\_SlTGﬁ 2l

Pef)
2) Perimeter of rhombus = 4/side / ﬂtﬂﬂ'{-lﬁ[ ST URHM = 4/HSTT

3) Area of trapezium = 1/2 (sum of parallel sides) x (h) / THAS BT &AHd = 1/2 (TR 'J:l,\_rlT&ﬁ PI D) x (h)
4) Circumference of circle = 4ar / 9d DI ORI = 4nr

Q 74) Kinetic energy depends on square of ./ TIfaST &ut & I R AR et %I

1) speed / Tt
2) Mass / SHHTT
3) Distance / 3[R

4) height / $dT8
Q 75) The machine component chamfer has: / 3UPRU YCH PR P G %I

1) straight corners / BIEEAE]
2) sloped corners / @ gl DA
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3) rounded corners / TaHH
4) Both straight and sloped corners/ W 3R %ﬁ; Y CARKARII

Q 76) The process of conduction takes place in: / UdTghtd 31 fopam T gralt %I

1) solid and liquid / T 3R TR
2) liquid / TR

3) gases /g

4) solid / 9

Q 77) The most common type of Alternating Current waveform is: / 3HTeeRAfHT Hie ITWIH BT Tad JHAT
THR EGI

1) sine wave / g1 dq
2) square wave / WRAd
3) triangular wave / ¢ sﬁ“gai G|

4) rectangular wave / W G|

Q 78) Gauge pressure involves both: /TSI ORR o I A g %I

1) absolute pressure and atmospheric pressure / Q’W UIR 3R mﬁ’?ﬁ TR
2) hydraulic pressure and atmospheric pressure / €E§ﬁ$ TR GﬁT ir'aq@?% TR

3) absolute pressure and lubricated pressure / w UIR 3R TR

4) hydraulic pressure and lubricated pressure / m ISR ?jﬁaﬁﬂ_é TR

Q 79) Which among the following incident are covered under Disaster? / fafead & @ & I ger muer &
Sfafa et g2

1) Risk of heavy loss of human lives / SH-STa @l YR IR T ST QAR
2) Uncontrollable situation at plant site / FHEART R wqﬁ'@lﬁf

3) heavy loss of property / iy BT URY RCRIE]

4) all of these / Ig Tt

Q 80) Which among the following is not an OSI layer? ) Frafafed & @ S i T 3% IRd '_ﬁ)f%?

1) physical layer / ifas wRa
2) internet layer / geC WA
3) network layer / Jegdb WRd
4) transport layer / JIAR™Td URd

Q 81) Risk involved during maintenance of computer hardware appears due to: / PHCX BISAW & TWRAG &
IRAWMPAER_ FHRUBI I

1) hazardous chemical / ddXATh I

2) short circuit / e gfde

3) slippage of hardware personal / 613%11? BT HTH HdIdl Afad o {haa-
4) falling of repairing tool / HXFHI SUHIT iR

Q 82) Gear box in an engine comprises of: / §oI T iR Sl | RIENEIG %I

1) back light / % T3
2) horn / 81

3) clutch / o<Td

4) rear axel / R Qa@ﬁ

Q 83) Thick and medium lines are specified as times as thick as the thin. / HTeT 31R rrmiw'q TR
Uoclt & =0 B A1t 39 dRg Mfdy §

13,15
2)1,3.5
3)1.5,3
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4)3.5,1

Q 84) What is the nature of Hidden detail lines ? / R+ f$ea @z ) upfa e 82

1) thin, short dashed, 4mm long / UdI¢l, BT é'EZT, 4 THeY et

2) medium, short dashed, 3mm long / H¥IH, Bl %'QT, 3 et |t
3) thin, long dashed, 2mm long / Ud T, NEl %m, 2 fordt e
4) medium, long dashed, 2 mm long / H&IH, NEl ?’:'QT, 2 et delt

Q 85) What does centre lines depicts? / e NIERSE IR d % ?

1) outlines / 3{T3<C AT~

2) hidden lines / fg&4 eg=q

3) dimension lines / fea=m NIERS]

4) symmetrical vies of circular parts / MATGR YT & FART 18

Q 86) The path traced are represented by / Gdl T UY o R ufafAfera fovan Srar %

1) locus Line / NIER] NIESE
2) curve lines / d¢h Fﬂ%ef
3) splines / TS

4) centre lines / % Fﬂsﬁ

Q 87) Cutting plane lines are in ratio of / & STl P dleT & STUTd o %

1)6:1to4:1/6:1 T 4:1
2)4:1t0 7:1/4:1 9 7:1
3) 1:2t03:5/1:29 3:5
4)2:4103:6/2:4 9 3:6

Q 88) Preceedence of inking a drawing is /Th §|§‘ §:||35‘| CARBIEK] %

1) Visible lines, Invisible lines, Centre lines / EWW, 3HeYg W, éo—;zi“@rq
2) centre lines, invisible lines, visible lines / % TS, 3 g, Waﬁﬁ
3) visible lines, centre lines, invisible lines / Wﬁﬁﬁ, ai'{(_“ﬂsﬁ, 3T Fﬂgef
4) invisible lines, centre line, visible lines / AR Fﬂ%ﬁ, 37_9'{?‘”3%, e FI'IB%T

Q 89) Paper used for finshing the drawing  / E'IB"T P AT FA & fom 3@7:”?[ fopar T R %

1) Whatman s hot pressed paper / @Eﬁ? glc IS TR
2) Bond paper / SIS IS
3) Matt paper / e

4) silk coated paper / e Plcs TR
Q 90) Why are magins used ? / & BT IUTNT &} faham ST &2

1) to prevent damage of drawing due to sheet edges / 3ffe & IRl & RO E'IB"T & RCRIE] PP & [T
2) to make sheet look presentable / e B IHY® §9H & fog

3) to emboss the drawing / S'IE"T PIIHRA & 1%112

4) to do rough calculations / GG %ﬂ'la B D ﬁfq

Q91) The s‘%ndard size of Al sheet used in drawing is / §|3" ﬁG'CI'CI}FTﬁ?_Q SIES aﬁrq 1 Xfte BT AFS
SR

1) 594x841
2) 500x900
3) 649x850
4) 694x854

Q 92) Folding a drawing sheet facilates / U ST TME Bl hics dAl CARS ERISEEAC RIS
1) prevent wrapping / GEGEEIRICE
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2) carrying the sheets easily / TMe P T Y A ST
3) folding of prints easily / flic &I 3 ¥ it &l
4) all of the above / HUR & Tt

Q 93) Conventional lines combined together systematically depictsa__ / PR A3 TaYd © g 9
Uh Y IGFd bl

1) part drawing / e S{EUl

2) machine drawing / o= SIEU

3) Engineering drawing / ESIIERIEY SIE
4) tool drawing / 3UYHRTI _Q"IE"T

Q 94) How a Projection is imposed graphically? / TISaRM o Atheh =0 J B T STl %?

1) Image of an object formed by rays of light / UhTRT D1 fHRo gRT o918 7T a¥d D Bid
2) stamping of image on graph / UTth U Bfd i
3) drawing oblique lines & CYUCASIERISIE

4) none of these / Lk ﬁ's‘ 8l

Q 95) The Projection taken on a plane is known as ./ T & TR foran Tt UielaRe
& FYH 1 S 5

1) Picture plane / R @

2) Drawing plane / TS o

3) Front plane / The W

4) Orthographic Plane / Sififofthe wH

Q 96) The point of view of the observer is known as ./ GYaes & DI DI FETH
NIBIRCIRIE

1) Mid point / fr€ @Wrge
2) Station Point / XA Wrge
3) View point / & @ISC
4) Base point / I @rEe

Q 97) The two dimensional drawing in two or more views of the exact shape of 3D object is represented by

system of projections. /3@@@%%%@@?%3‘@31@&%6{13?3 WWW
YTl gRT Ui &

1) Orthographic / Mdipedcy
2) Oblique /
3) Isometric /

4) Trimetric / 3@%

Q 98) Alternatively orthographic projections are also called / At T SHRifthds Mo &t
i eI 8

1) Multi-view projection / u&"f-aluﬁw
2) Single-view projection / R -alghw
3) 3D view /381 &

4) inexact view / mﬂf g

Q 99) What are the three main planes of projection? / ISR & o qJe0 @ T2
1) PP, VP, FP / Uidl, 41, Tt

2) FP, RP, HP / T Ul, 3RUY, TaG!

3) VP, HP, PP / didl, Tad, tid

4) RP, FP, VP / 3[R, THUY, didt

Q 100) Principal plane comprises of / fifue @ o g8 wfia %
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1) VP and HP / U} 3R wardt
2) FP and HP / T 3R G0}
3) VP and FP / iUt 3R THUY
4) RP and FP / 3RO} 3R THdt

Q 101) The system mostly used for representing Orthographic projections are  / SUIGIdR, e
ToiaRH! 1 UfafE B & o ST fovan o aren Riked g

1) Ist angle & 3rd angle / B UTTd AR YT ey
2) Ist angle only / Q‘IFI
3) 3rd angle only / FId Ys dTd

4) None / ﬁs‘ Tal
Q 102) 1st angle project is accepted in countries / M A B a‘ T UToaR TR T ST %

1) Europe, USSR and Asia / 93U, JUIATHSR 3R TR
2) Europe and USSR / @'C[ JUIUHAR

3) Asia / TRMET

4) America / SANDT

Q 103) 3rd angle project is accepted in countries / A YS R EENE RS CA ARSI | %
1) America / SAReHT

2) Europe / @q
3) USSR and Asia / JUITHSR 3R TRMAT
4) Europe, USSR and Asia /QI\PIU, JUITHSAR 3R Qﬁl’cﬂ

Q 104) Drawing board “D0”comes in standard dimension of (LxWxT inmm) / =0 CIEE) &
o fEA=E o 3mar g (Bt & (LxWxT in mm)

1) 1500x1000x25
2) 700x500x15
3) 1000x700x25
4) 600x350x10

Q 105) 1st angle projection differs from 3rd angle projection in a way / T TS TIoaR U8 UTTa
ISR 59 UPR 3T 3

1) In former, left is on right and in latter, left is on left / tl??f, 9 E'I'%:ﬁ 3R % 3%? diq 'Ef’ T 3R EI'I_Sc 3R %
2) In former, left is on left side view / QB@L EIp)) a'l_sc ISR %

3) In latter, left is on right side view / dlq ff, EIp)) T{I‘%:ﬁ b %

4) In both, left is on left side view / Eﬂ:h ﬁ, Eie)l a'l_ic P %

Q 106) What is Datum target meant to do? / ST T T H=AT %?

1) specify a point or area on a part to institute a datum / Th STTH TR RTUT A & [T T ﬁg a1 &=
ey &
2) represent an actual feature on a part / U HFT UR Uch CIESICED ﬁfa‘iﬂ F1 ufaffea sd %

3) to inspect parts in manufacturing / fafator & yrT o1 FAteror e

4) to represent a function on a part / T HIT U ThI[dR[ I gfaffa e

Q 107) Isometric projections come under which of these categories / &ﬂéﬁm PIECNE] EXl ol o 9
g & Sichfd o &

1) Axonometric Projections / Qa;h:hﬁ@ PIECNE]
2) Oblique Projections / R EVIER SENE

3) Perspective Projections / qifaed Uoiae

4) Trimetric Projections / Eﬁ% PISENE]

Q 108) Cavalier Projections are obtained at an angle of / AR TSR P R U fpT STt %
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1) 60°
2) 120°
3) 90°
4) 45°

Q 109) An object line shows / Tch isstae e Tg Rt g

1) Edge view of surface / TG BT TS g
2) Side View / 9IRS &

3) rear view / IR g

4) top view / Tg 28

Q 110) Which view is considered as the major view ? / CaEkll g 5{[\35 0§ qHT ST 82

1) Front view /e g

2) rear view / IR =2

3) Side View / 9IS &
4) bottom view / SICH &

Q 111) Indian follow which type of representation system ? / YR, fhg @R & UfafAfda Yol &1 urer

IRAG?

1) both Ist and 3rd angle projection / B 3R U3 EUGRISENEEAR
2) 1st angle projection / sl CUGRISCE]

3) 3rd angle projection / ys FUGRSISENE

4) isometric projection / IMRIHCH TR

=

Q 112) End Elevation is known as /Q%’Q?Ia'ﬂ:faﬁ %Wﬁ\_ﬂmﬁlﬁ'{%l

1) Side View / 9IS &
2) rear view / IR =2

3) Front view / The &
4) top view / €10 &

Q 113) Rules, principals and methods of tolerancing are as per /|, e 3R TR~ & a&b
F AFTIARE

1) ISO and National Standards / @ﬂg'w\?h GﬁT TI'@'C[ HAD
2) American standard / MNP AF®

3) Russian standard / =4 qFd

4) European standard / @tﬁq HAD

Q 114) Extension lines are / SRCRM A g

1) thin and continuous / Udcll IR AR®R

2) thick and continuous / HreT 3R AR

3) thin and dashed / Tl 3R S

4) medium and continuous / H&H 3R FRER

Q 115) What are leaders used to depict ? /@Eﬁﬁﬁaﬁm%mmme%q

1) descriptive remarks / G0 fewuft
2) arrow heads / Qﬁ %33

3) tolerance value / CTAR-H HoY
4) radial values / feaa HU

Q 116) Commanly pointer lines are drawn at an angle between_ / ITHI ¥4 Y Ufger A8 o FIAD
HI0T TR e St &

1) 30-60 deg / 30-60 f&Tt
2) 10-20 deg / 10-20 f&3
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3) 20-40 deg / 20-40 Y
4) 45-90 deg / 45-90 &Y

Q 117) For a circle or an arc, the direction of a leaderis___ / WWZIT &Iﬁaﬂ%‘lﬁ, NICRE fa=m %A

1) Radial / ST
2) linear / fafR

3) tangent / RSk
4) splines / TATS

Q 118) Datum involves / 3TeH | Tmid %

1) oblique palne / 3D @

2) a point or a plane derived from true geometry / Ydh ﬁl’g’ 7 TP Wi S aRaide SanHfd 3 fordm T %
3) plane from imaginary geometry / PIedi-e SAafd I @

4) centre lines / % Fﬂsﬁ

Q 119) Meaning of a Reference dimension is ./ T few=m &1 ardf %I

1) dimension without tolerance / CTCIR~ & fom feu=m
2) dimension with tolerance / CTER~ & 1Y fSa=E

3) dimension with feature / PR & Iry feu=m

4) functional feature / Frafds ﬁﬁ?ﬂ

Q 120) Basic Dimension describes ./ Sf® fsa=m 1 quH BTl %I

1) Exact size / TP MHR
2) increased size / dgl G311 HTPR
3) decreased size / PHH DR

4) none of the above /3:|fr T ﬁ_‘éc aft 7‘|€[

Q 121) The dimension in which machining operations are not considered: / &AM forad =it afereql R
feram 78t fopar ST ag B

1) basic dimension / IR fei=m

2) redundant dimension / free—< fei=m
3) Chain Dimension /< f&i=M

4) Auxiliary Dimension / SfTea’t fea=m

Q 122)%A twist drill stand can be effectively decpicted by  / Uh @E %?T W qurdt & a_ FRECRUBIE
Hohdl

1) Chain Dimension / o A

2) Auxiliary Dimension / SfsTeR] f$A=E
3) reference dimension / Taf smamy

4) redundant dimension / free— f&i=m

Q 123) A drawing requires mainly two types of dimension: / U §I§§‘I & forg =Y I I IR & [SHRE B
IR gl &

1) Size and location Dimension / 3ThR IR R fEa=F
2) shape and location dimension / @m IR R fEa=H
3) size and shape dimension / 3{THIR 3R Gf@ﬁf f&a=m
4) all of the above / HUR & Tt

Q 124) In polar coordinate dimensioning features are located: / UIeR dl3fise feam=i ﬁﬁ‘fﬂq Eﬂﬁ R %

1) linearly only / Fad AR =T Y

2) angularly only / FHad W Uy

3) linearly and angularly / fafeR iR w LR
4) none of these / s:l"ef I ?ﬁé :@
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ILevel 1 Answer key

g:.estion Option g(l)l.estion Option g:-estion Option 3(1)1-esti0n Option g:-estion Option
1 3 31 4 61 1 91 1 121 4
2 3 32 1 62 2 92 3 122 1
3 1 33 4 63 2 93 3 123 1
4 2 34 3 64 3 94 1 124 3
5 3 35 2 65 2 95 1

6 2 36 1 66 1 96 2

7 3 37 1 67 2 97 1

8 2 38 4 68 1 98 1

9 4 39 1 69 1 99 3

10 1 40 4 70 2 100 1

11 4 41 4 71 3 101 1

12 3 42 4 72 1 102 1

13 1 43 4 73 3 103 1

14 3 44 2 74 1 104 1

15 3 45 1 75 2 105 1

16 4 46 2 76 4 106 1

17 1 47 4 77 1 107 1

18 2 48 3 78 1 108 1

19 1 49 2 79 4 109 1

20 1 50 3 80 2 110 1

21 3 51 3 81 2 111 1

22 1 52 2 82 3 112 1

23 3 53 3 83 1 113 1

24 2 54 4 84 2 114 1

25 4 55 1 85 4 115 1

26 2 56 1 86 1 116 1

27 2 57 2 87 1 117 1

28 2 58 1 88 1 118 2

79 4 59 4 R0 1 119 1
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30 3 60 3 90 1 120 1

Riggere Code Level 2

Q 1) In which among the following case high powered motor is used?/FRfARET forg A o I UTaR Hex &
TRINT o STl 87

1) Steel mills/ < Td ie
2) Ore handling and processing/3{I¥hH %31%’11'[ 3R YRR

3) Heavy Engineering works%_cﬁ 35“ e aod
4) All of these/d T+t

Q 2) Which among the following is used in winch-crab?/FEfIRed & ¥ fory &1 fda-sva o v foran Sman %?

1) DC Motor/SIt Alex

2) AC slip ring motor/TYT f&TT f&T Hiex
3) Induction motor/%@Tﬂ'Ff e

4) All of these/d THT

Q 3) Which among the following crane is used for handling delicate objects like glass?/&Td Eil arg Ao aﬁ@f
4 fueA & o 377 361 # 9 I 11w b ST 82

1) Low speed/®H e
2) Medium speed/H®H e
3) High speed/8T8 WIS

4) None of these/3TH § 13 oft T

Q 4) Which among the following motor is used in roll mill equipment s?R1d e Suahrur & Fgfoiad dier o
3 forerepT WA fomaT STt &2

1) DC Motor/SI¥t Hlex

2) AC slip ring motor/THT f&TT &1 Hiex
3) Induction motor/%WFf Hex

4y All of these/T T

Q 5) Which among the following is a disadvantage of belt drives?/dee gigd CAERE R RCRIE] g

1) Zero starting torque/G"?- wifé efh
2) High starting torque@'lé wifén s
3) Low starting torque/?’ﬁ wIfén el

4) Medium starting torqueﬂ:ﬁ'%'qt[ wfén efd

Q 6) Lifts used in residential apartments uses which among the following type of motor?/ STIRIT 3arche o
T U] & 370 9 e UbR &1 HieR 1 IwdT o1 STl &2

1) Synchronous motormﬂw e
2) Induction motor/%@Tﬂ'Ff e

3) AC slip ring motor/THT f&TT &1 Hiex
4) None of theseET-Fef I aﬂ‘s‘ ot '_‘|_69[

Q 7) Which among the following is used to indicate that the surface requires additional machining operation?/

Tag H srfafvad T=AfFT SfREM & STaxadhdl 8, 39 =1 & e 378 3 fargest v fasan siar g2

1) Roughness indicator R4 §[SPHe
2) Leader line/cIER NIEGE

3) Projection line/SIoIaR A

4) Finish mark/fOBT=T AT
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Q 8) Which among the following allowance is provided between two parallel metal surfaces?/ 9 & 4 S Wt
TR & GHMIR UIg Tde! & &g UG &1 il 82

1) Angularf@'ﬂf‘l?

2) Linear

3) Datum/ScH

4) None of theseﬂ_"lﬁ ﬁa’ﬂé ot '_‘%3[

Q 9) Which among the following process indicates the merging of metal powders at extremely high temperature?/

9 & 31 It ufthar srdd I agHE W UTg 701 3 faer &1 1 w82

1) Galvanization/Tea g oI
2) Sintering/&l?ﬁ"'[
3) Cathodizing/a??‘i SI% SE

4) Enameling

Q 10) Which among the following is used for accuracy of micrometers?/A9 & ¥ B Iﬂ%ﬁ'ﬁﬂa P getpal &
fore T o e g2

1) Slip gauge/ﬁ%’l'q LS
2) Ring gauge/ﬁ‘T

3) Plug gauge/WTT T~
4) All of these/d T+t

Q 11) Which among the following is used to measure the surface roughness of a material?/RfIRIT & § B
IR ) TaE &b WU Bl AIYA I fore yaT foma e g2

1) Dial indicators/ b P ST B
2) Micrometers

3) Vernier calipers/aﬁCR Hferod
4) All of these/d Ut

Q 12) Which among the following type of file is used for rough metal surface?@ﬁ YId dde CANMEREES]
5 TR 1 it TN BT &Il &2

1) Single cut file/RITTA ¢ BEd
2) Double cut file/SI h< Wi

3) Rasp file AT Higd
4) All of these/d T+t

Q 13) Which among the following term is used to refer the potential difference of a circuit?/Tdh gfdhe & guifaa
3R BT I B P o1 $9H ol =g T TANT fpam irell &2

1) Current/HRT
2) Voltagem
3) Contact resistance/AUd TfaRIY

4) Heat/ATHf

Q 14) In which the following process the welding spark is hidden?/3-H ¥ forg Ufehar & afcd s RIMRY ot Eé
®

1) TIG/S3Eoft

2) MIG/TH3{TS ST

3) Submerged arc weldingw 3T AT
4) All of these/d T+t

Q 15) The weakness in metal, due to welding can be corrected by: / IfcET & HRUI g aralt Yrd P! HHAR] B
R GYRT S Tl g

1) annealing / SfAfeRT
2) normalizing / Arda gfoR
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3) hardening / © é\ R

4) tempering / US|

Q 16) The normal frictional coefficient value during sliding of rubber is: / XdS ¥ e & SR =g gyur
0T 74 g

1)0.1

2)0.4

31

4)1.8

Q 17) For making loop in a rope, bowline is tied at the: | TR T (Wan CEIE] a%i%m, CINIES K]
ST |

1) front of the rope /TR 3T

2) end of the rope /TR & SRR |

3) middle of the rope / T8 & Heg H
4) front of the rope, end of the rope and middle of the ropeRFﬁ & &ﬂﬁ, & & IR | MR 3= & Aem A

Q 18) Chain slings for lifting are available in :/ 3T & 1%1? I & T Iuasy Eﬁ?f % [

1) single leg design / IRUGERIRCTIES]

2) two leg designs / ¢ NUNESIES]

3) four leg designs / R o feeme

4) single leg, two leg and four leg designs/ f%m?r@ﬂ, ;éﬂ R BR AT IESIES]

Q 19) Which hazard results in low flash point? / DI I R HH TH(H T ufeford giar g2

1) explosive / fqeples

2) oxidising / SHGHROT

3) extremely flammable / 3/&d SaaRId
4) none of these / 37|'ﬁ[ @aﬂé b} ﬂ%)f

Q 20) Derrick has square/rectangular cross-sections with its members as: / SR® & U TfER/MIdHR H1-
TRMA FEUHT

1) lattice / STTGR

2) truss / ‘1@'

3) both lattice and truss/ ST 3R ‘1@' gl

4) neither lattice nor truss/ - ar et GhT Cl _EDT ﬂ%'

Q 21) Which among the following winch is used to draw power from an engine by crankshaft? fFofafead g
B Ul TG BT TN SRTAGUS GRI S0 4 Sl Wia o o o Siren g2

1) Mechanical Portable Winch / i Gidad Tt
2) Hydraulic Drum Winch / SaTerd Tl TR

3) Mechanical Capstan Winch / TiF® @R P aRE
4) Mechanical Drum Winch / TifAd el !

Q 22) It is a type of hand signal in which an arm is extended downward while forefinger pointing down and hand
moves in horizontal circles./ T8 U YR BT g Tobd g, FoTIH T 1Y 17 B 3R I ST § S&fd doi-il
SR e BT 3R ZIRT Bl § 3R g1

1) Hoist / 813

2) Lower / MR

3) Multiple Trolley / Fieeiud CTail
4) Bridge Travel / fosr 23?[

Q 23) To prevent fatigue failure of wire rope sling, radius of bend needs to be increased by: / dRX el TR &

AT Y Y™ F BRI B aTel! fatherar i Aha & forg, Ut &t Fsan 9% gRI IGH St SaaHhdl g -
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1) blocking / SATIhT

2) padding / UFS

3) Both blocking and padding / ST 3R UfET Y

4) neither blocking nor padding/ = a safeh 3R A Gl ofgm

Q 24) Numerals palced in a manner such that it can be read from bottom edge of the drawing / 3P dI ERIGRE] q
decid foran T 8 fob 32 g & e fe R Y ugr s 9

1) Unidirectional System / Qﬁmﬂﬁ Rreeq

2) bi-directional system / TSR ey
3) angular system / TeR Rieeq
4) multi directional system / Fce] STAYGRMA fecH

Q 25) In the following which dimensions do not require tolerancing? / fafiad & ¥ oF I f$a=A &l aer=
B SIRAHAT Tel 52

1) stock / &I
2) radial / feaa
3) linear / fafmR

4) concentric /

x

Q 26) Irregular Curves are dimensioned by the method of  / Sfaftd &d &1 o fafdr & afkeforg fosar Siran
gl

1) Offset / 3T
2) splines /AT
3) champhering / SR

4) filleting / foaifcT
Q 27) Champher means / R BT HIT %

1) providing curves at sharp corners / IS BIHI TR Ieh UG Bl
2) sharp ends / GEAR
3) chisel / &1

4) fillet / Gfg eI
Q 28) Pictorial drawings are more /i sulgll 3P %

1) realistic / gyrefard}

2) imaginary / CAGCIRED

3) innovative / 3

4) Exact size / TP PR

Q 29) The three axes are mutually perpendicular in /T e UREAR® ® U o dead %

1) Oblique projection / & YIoIa=T

2) orthographic projecton / Sifothe UeiaRm
3) isometric projection / Gﬂgﬂ-ﬁﬁ PISENE]
4) cabinet projection / Ffae ToeRE

Q30) Cur%es and irregular lines can be easily shownin__ /ddh IR sifafa @ gl B S ﬁv T feamar
SIRSEI

1) orthographic projecton / frfnftees TR
2) isometric projection / mﬁw PIECNE]
3) Oblique projection / NG Fhw

4) 3rd angle projection / ys ﬁTl?T PISENE

Q 31) In Cabinet Projection the recedmg edges can be drawn to a scale of  for measuring along Vertical and

horizontal axes/Wﬁ’Eﬁ@W ﬁ@@ﬂqﬁqﬁaﬁw ﬁsﬁw&ﬁ%mumﬁ%%q_@m
IR g foran o1 qhar g
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1) one fourth / Tdh ?ﬁ?ﬂ%

2) one / Uh

3) half / 3{TUT

4) one and half / Th 3R 31T

ILevel 2 Answer key

Question No. | Option Question No. | Option
1 4 31 3
2 4
3 1
4 4
5 2
6 2
7 4
8 4
9 2
10 1
11 1
12 2
13 3
14 3
15 1
16 3
17 2
18 4
19 3
20 3
21 3
22 2
23 3
24 1
25 1
26 1
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2/ 1
28 1
29 1
30 3
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